
I CET 12th Level (15t Shift) Answer Key Dated: 05.02.2023 

1. �'litft'1JTiftur-.tt1i-!�cfi�cfiT��
'j{.cqiisft � ............. if� lftrr-
(A) � (B)�
(C) $-jJ-IH11ep (D) \i!T� [D] 

2. Translate the following sentence into Hindi:
He called a taxi for me.
(A)W�VRft'�I
(B) � itt ����I
(C) �itt� 'o/-fi VRft'"ffi<TTI
(D)�����I [BJ 

3. � * ifi'f-A' � qi"J � � � �?
(A)�� (B)��
(C)TR¥ (D)� [C] 

4. AJ.fQt�a if� f.lRR s-10-2022 c1it si•3fh-tli-lRI< if
�1td�a fit':i �Qtq:{e ,a�q-.�fiq-if� 25 cif �JU
fflrar-J�
(A) ricfwr � (B) T1ra �
(C)�� (D)�� [A] 

5. in«;� cfiT � � t-
(A) � (B)�
(C) � (D) IJI\H [BJ 

6. fcR "«cli � � cfi'I' ll� �H�4i � 1'JTffl �
clitrrf t?
(A) SBI (B) PNB
(C) BOB

n-£ha::nn 
(D) HDFC [DJ 

7. � qi) q4ilcfiic01 f.5a;l 'iRUJl if� §on?
(A)�: (B)�
(C) '3fTo (D) tiRi [Bl 

8. fcR ilul'Z' ri if � cl> � � ":l ic"iQ,wt;flQ
$mra '1fcni �- cl;tm,IJUTTcl;t tft?
(A)2015-16 (8)2014-15
(C) 2016-17 (D) 2013-14

:-::r.:,r-
[AJ

9. � cfiT �-ffl ffltffl � -mt "'i-lql<J llt•r cfiT
""'1t'? 
(A)q;m (B) 
(C) ffiffi (D) � [A]

1 o. � iii rQtq1«4) cfiT ;:mra :i� �. 2022 �
<A"11Ptri � lftrr-
a AJ.fQtf€4a if�� �:i� it�? 
(A)� (B)�
(C)� (D)� [A] 

11. \JRri' cl; tfflterr-t � Ai::d"'�" � � if
< 1-ftl q Ii-I .fi'I' �11"1 cfiT � � lJtrr t?
(A)� 155 (B) �158
(C) � 159 (D) � 154 [C] 

12. <&ITTn cl;� WTicf � cl',T-f f? (18 �. 2022
a;�)
(A)�JRRT (B)'3Wr��T� 
(C) ��fu;f 'tRJ (D) � wim [D] 

13. AJ.fQtfita if� l«Qtl � �Til; �-m �
(A)� (B)�
( C) � ( D) tf5lcliT< [A] 

14. A"""Qt� a if� fcR �if°"� :i� aJ� f?
(A)�, $�T, �
{B)�,�� 
(C) �, �m;J, �
(D) ��. � [DJ 

15. f.!t.:J <.fd4il:U if � � l<Jcii1i!I 31Ni � cl; �
tro'3ft� � lJtrr �
(A) i:it�r m;fi (B) � �
(C) JJ.fi<'ffi'f\i!T�ft (D)l-11$-1<11<1 � [DJ 

16. � 'cfiT � cliTtf �. il" At1.11�a �3JT trr?
(A)�-�- �irhR,:illl
( B) oft. aft. <'ffi'f
(C) cft. lf-1. fi:tl3rt
( D) cft. �. =c1 lcfi"'"'u=r cf, ..... ,: [A] 

17. ·�· in� cfiT � i,
(A)� (B)Jf&
{C) � (D) � [C] 

18. ;ra��
(A)��m,:� (B)��
( C) 1{cf, ('fR qfffi "qfq ( D) 'o/-o � � [DJ 

19. tfg' mfi'ta; ftm':lcl; � lt ((i-'ch1t;<'I � �. tfg' �
(A)� "11$�1�1lHl$S
(B) -11$�1q&4i-1
(C)�� 
{D)��l<Hls.s [CJ 

20. f.!t.:J 1JTQi cfiT fflcfm-ft wf4i' ,lf'LQ'tR' cJK �JJJ cfiT �
� 

Y � 

D Boys/� 

� Ciids/� 

� A 'rl'trr C if Rnrimifim' cfi'I' � cfiT �----
�� 
(Al 2:3 (B) 1 :2 
(C) 1 :1 (D) 3:2

,:.--=ti���� 'cfiT � � �� t?
(B) iii'ft41c11<1

(C)� (D)�
22. 36�if��cfi'l'��ilR�i?

(A) 35 (B) 36
(C)39 (0)33 

23. .Jcft, � qfl}'q' trrra ifiT �mti �� i. � i-
(A) � (B) T[1Js'qi 

(C)��cfils-itff {D)� 
24. � � <i-t Iii 14 cfiT � � g3fl m?

(A) �-q (B) cftt41csi•llll

[CJ 

[C] 

[DJ 

[DJ 

(C) � � (D) � � [DJ 
25. fai,jq41qd;I � 'i1'tn' -mcli tt'14•¥1chl uRcl> cl> 1'�

�q;)�t-
(A)wincfi� {B)�� 
(C) �� {D)�a-r□T� 

26. iB,tacfl �•---� clit ��it
(A)� {B)� 
(C)� (D)�

[BJ 

[DJ 
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27. � if <IJQQl<i i-ilcfii<jcfH ��cl;� f.\'i:J
if�� ffl'lf tmir.lf � p. 
(A)� ltft' Jm: 'Jul -4illl<illl cfiT � ;.::rrmefi�T 
(8) � -41lllclll <liT 1j@" ;.::rrm'<fi�T � �'<l"R �'l-TT m'aq�
cfiT ;rcrr 
(C) 1j@" ltfi', � rllllllclll cfiT � ;.::rrmefi�T � �'cl"R
� it -maq� cfiT �
(D) � ltft' [C] 

28. A...,fi?tfQe1 if �  cf,t,:r m � cli � it;ft' q;r Q?;
�t? 
(A).�� cfiT �
(B) � tj,ft 't-1<ili6cfiF<. � cfiT '11"9:I"�
( C) � � � 3fT<M col '11"9:I"�
(D) ,3@ml'q 4Rllle,_chl � [C] 

29. Choose the correct option.
The tone of a circular should: 
(A) remain the same for any kind of audience
(B) be humorous
(C) be strict
(D) be different for different kinds of audience [A] 

30. � $ � 1-f�i<IOII cl;� <i\J{i-f�i;-i if "� cfi't
�·· ��� �eJii;-i4 �fc6tilmrr? 
(A) � '1flR �
{B) � '117@" � >l"iri:r
( C) � \J{"q � 

(D)�� [BJ 
31. A...,fi?t�t1 �UIR if � � f.Fra f.lmJT /

�cliilRif��-nr�t? 

m= �
�

➔ � �

(A)� >l"cfif�T - ...
(B)��[coHT ,.,, 
( C} � >l"cfif�T 
(Dl fct<;Jnm (vrnbvoR) 

32 -q'cfi � � ABC if 2LA=3L'.�=6LC ffi L 
Lc��T:J-
(A) go0

, 60°, 30° (B) 30°, 6�. goo 

(C) go0
, 45° 45° (D} 60°, 90°, 30° [A] 

33. � � -mq; � fttAf 2019 cli � -r.r � 
(� �mra 'Rt�r �) � � � cR iw.;r l1Fcr�ra 
irr:r10 �cfilft, �t 
(A) 6 (B) 7
(C) 8 (D) 5 [*] 

34. � $ � � �T if � efi't Q�l�Qj
�� 
(A)-i:r&r� (B}�� 
(C)�ttoR (D)�� [C] 

35. A...,fi?t�t1 if � cfi\.J-m flc:mse � � � cli
cfiTd c:1R � t?
(A) � (B) clTT-"1ti
(C)� 

............... � 
(D)� [A] 

36. � cl, f.!lqN-i � fcl'err.:i- � � � \}ttnlQcii
cl;� if� tRA�t � #-
(A) (i\Sl!Qkt cn1" (B) =c-1,bcfi--,,l1;j,"""<hi....,, ciil 
(C) 'Jul -41lll&tll cfi1" (D) � ltft' cn1" [A] 

37. � � ufl �RR c1il �� � ar-lf �
����t.at-
'AJ � (B) �
(C)� {D)<"cfiiTOJ [A] 

38. Convert the following indirect speech into
direct speech by choosing the correct option:
He inquired whether his name was not
Ahmed. 
(A) He said to him, "Was not your name Ahmed?"
(B) He said, "Was not his name Ahmed?"
(C} He said to him, "Is not his name Ahmed?" 
(D) He said to him, "Is not your name Ahmed?" [C]

39. � if •fil�R �• cfiT n'� i-
(A) t-�ir �'1TT � (B} Tffuft � � 
(C}�Wf'R� (D)��� [OJ 

40. � �-m qiJ 3ITTra n2 ! '3fR � � n msm-m cfiT
,3ftlra m2 �. <1'i1 (m+n) �-m q;r .3ftlra �-
(A) m-n (B) mn
(C} min (D) m+n [BJ

41. Choose the correct antonym of the following
word from the options given:
Freedom 
(A) cliberty B) amhained
(C) independence (D) slavery [DJ 

42. Chase the correct prepositiQn to fill in the

45. 

blank:- Wathing! No unauthorized
personnel............ his point" 
(A) of (B) beyond
(C) besides (D) since

--rrt=,,r
[BJ

�itnt � (l�lUft.m.) cl;� fl¥-qWI �
il\Jliiii-\) 15-16 �. 2022 c1il fc\:;'« ��T-l efi't 'lft? 
(A) ch-#IE&<Rti-1 I (Bl a;,ft�<RtH 
(C) J-#!�Ft\i<Rii-1 (D) � [CJ 
Fill in the bl�nk Vl{ith tt,e appropriate article. 
Eat ..........•......... banana everyday to keep 
yo rself healthy. 
(A) the (B) an
(C) zero article (D) a [DJ 

� i1 WfJ 1t;r � m- � cFQT m *
cfiR1JT � m umt t?
(A) Ag5- (B) AgS04
(C) Ag2S (D) H2S [C] 

46. � ffllt � cli � � . ............ l1fcr � if 

47. 

�cfiT � �u cfi«q1q1 utrat � 
(A) 7 (B) 8
(C)12 (0)17 [BJ 
Choose the correct alternative for translation 
of the technical term 

� 
(A) practitioner (B) plotter
(C) supplement (D) backplane [A] 

48. � � cli am;� if��� t?
(A) R't-1ii$F&i&i � (Bl�� 
(C} � slqlJ_�·<._� {D) � �(lcRi�L<1 .... n<�< [A] 

49. ���* mil�� 

t­
(A)�qfi}lft 
(C)�wff [A] 
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50. �clit�- 59. f.)¥=tW.R!Ja tllt���tftflram;ftcrl'Thft
(A)� (B) funG � � qcliilila, qcffftt-fift �. 2021 cfit
( C) � ( D) c"cfiT [8] �P«IT � lft .Jiff� 

51. • q.1 �cl;�� et;r if� �ra cfcfi f ·1 (A)� m-,, qi"]" Jt�� �*�qi)� ��ft
al5rq;ffc);���? fcl��Ellcllllil�*�����I 

(A) 20% (B) 9.32% �w�ATIOt,13) � � ll � 33% � cl�f.iilll. <ti� �
(CJ 3.83% (D) 33% [D] t1

52. Read the following passage and answer the (C) � � * �'IWfc:fiT � � 3fTll f8 � �
question that follows. choosing the correct <Fl1 m � � � � TTt �I 
option: (D) � � � Titm * � � � 20-08-
Recent research into antibiotic resistant bacterial 2021 qi)�� 'lft1 [8]
strains suggests the need for a re- examination of 60. ·lfffurq; -a;l,u uftcA � � � t q'Jqtl" if �-m
the frequency with which doctors prescribe �1',Jur t?
antibacterial therapy. One study demonstrated, for (A) qR_q101qlilcl'i (B) -H@lqlilcl'i
example, that most minor. bacterial infections will {C) �Olcllilcl'i (D) �<ticicllilcl'i [A] 
resolve without treatment within 5 to 14 days of 61. � � ;l � ri if��� i1ft
the onset of symptoms; a course of antibiotics ifiT qfq � a,1qf.l4l if iil'k: � 'lfl?
might reduce that time frame by only 1 to 2 days. A (A) 2 007 (B) 1995 second study indicates that the incidents of
"superbugs", which have resistance to a wide (C) 2000 (D) 201 2 [C] 

variety of antibacterial agents, is increasing 62· � cl; qft;J W f-ffi:t �-i-Hf�c.1 � tR � W � � 
significantly and that these bugs are more likely to ��t? ....... _.._ 
spread among those who have oeen treated with (A)�. Jlftcli1il, � -q-cf Tf7TR7R
antibiotics within the past 5 years . {B) �. Jlftt"li1,:, � · Tf7rR7R 
The passage is primarily concerned with (C) TTTIRTR, �. � -q-ct-�
(A) explaining a change in the frequency with (D) Tf7rR7R, �. Jlftcli1,: -q-cf � [A] 
which antibacterial tlierap is rescn6ea. 63. Windows-if����� ifil � cli �
(B) contrasting the views of doctors and medical �� �cfil' Jltff1'T �i?

researchers with respect to pres\:ribing drugs. (A) Delete (B) Backspace
(C) questioning the routine prescription of (C) F2

_ __......
(D) Shift+ Delete [DJ 

antibiotics for bacterial i')fections. '-lRiUT "1l"iiclige1 ' 'lmn � .......... a,y 
(D) discussing research i to the symptoms of tiffimi:r ! 1
bacterial infectior,s [D] (A)� (B) '3-!Qi•llf.'l(dl-1 

53. f.)..,:iQtra,ia if lt cfit;:i m � "1"ffl ct"� ;q1c.11v1q ct" (C) � (D) WR [AJ 
.1ltfu;fttr � aaw �!Him�!? 6s. �� * � �11mlJt@T �II{ 'QA 'lfl.

(A)���il�� (A) J:ji1t1l1H (8) 4JQ1f.'lll{-1
(Bl mr am�* ll'1ZI" fcrcrrG1' qi"]"� f.roTll";f ,c> 91iilf.l£1,( -1 o • co)� - 2 ce1 
(C)�ctllUf�qi"f�� 66. �����c);�f.ti:R��cfQT�
(D)�.������ [D] (A)2.5cm(wft) (B)25cm(wft)

54. �flT <1•1"1-icfi Gftcr � � q;r ml ff, 1 (C��2.5 (lfi) (D) 25 m (41) [8]
<t-hufta � J, 67 Wno was the first Indian to scale 
(A)��llTlf� (Bl�*�� Kanchenjunga in 19n and is known as 'Snow 

(C) "4"l!! qi"]" c:zrFc@ � � (1(D) �� [Al Tiger', who died recently in October, 20222 
55. A...iW.�a if lt <f>r.nft -1Jl::iaq i.rcra � t? (A) Pankaj Kumar 

(A)� (B) � (B) Umesh Zirpe 
(C) � (D) (jbtil-lcllt [BJ (C) Colonel Narendra Kumar

56. '1ffa 3f1t Jt<"ial'l �flT if cfiR·ffl ffltt.tT � � t'? (D) Col. Prem Chand [D] 

(A)� Rh:/1$•1<!, (B) <i!iflql$1 68. R q;r «ra-i' S cl; cliR" � 30% � t1 R cl; chR cl;
(C)cfRT (D)� [A] �if sclichR<fit�itraifiiftt-

57. Change the voice of the following sentence (A) 23 I_% (B) 30% from the options given below : 13 
Who teaches you such things?

(A) By whom you were taught such things?
(B) By whom are you taught such things?
(C) You were taught such things by whom?
(D) By who was you taught such things? 

(C) 25% 
] 

(D) 22-%
13 

58. A...i��a if lt � q�c1J::i c11r.r m �
(A) � ftcR qi"]"� (B) �qi"]"� 

( C) � qi"]" fi'rER;r;rr (D) � -.l wr WRT

[BJ

[C] 

69. 'IU«J if it� c{IK ••••••••••••••• if Q1'q' \iffif J?
(A) J&ulcoR.�� flc.liilt:;R cFl'
(B) .JISUlcfifl«i'<flir � cf,{ 

(C)tr<tfiq
( D) mm:f cr-=J

[A] 

[C] 
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70. � * q•ffcfi<Oi ai � f?fi•fn?tffi'lt1 .flt��
JflC'l•hilit�cnt��t?
(A) CAw (C) DB'w
(B) DA'W (D) EA'd [D] 

71. ��*��it;ft'�tl??
(A)� '%Jl-3m&rm {B) �,:1c11c1 ,m�
( C) � � cZ1'm { D) � ifIDT � [A] 

72. � 11 ��cl;� -
(A) �af � � �tjffi.la � �I
(B)1Rt.fuf�t1
(C)�����g, 
{D)1«lraf��f.tciffira�t1 [D] 

73. � qrfa,<ltl tjjq 8000 � lt � � cli
� t:R �en-at��� t?
(A) � � (B) � Jfl1qfc1'
(C) � � (D) � � [A] 

74. f.!IFPi-trulo11lt��'a{J1T���if�
-liff t? 
(A)� (B)� 
(C) ��R, (D) � [C] 

75. '3flR'llmft' �-rrlf t?
(A)� (B)�cfiTGfcR
(C) qrrgt (D) � [C] 

76. � � 11 � �cfi�ct .RrifR � laiHoitl cli 
,lfcJll)t{ � p. 
(A) TfUT�<R 

----, 
(B) c:fi1l-i)i.i111

(C) � (D) cfl<-flai•II [B] 
77. Ai:.tn?t@lct .f � cfiFRft �m � � mftc if 

m cnt i:fiJ:I' � � � � � 
(A)�� (Merge Cells)
(B) fQ;-c,t- � (Fill Handle)
(C) � (Filters)
(D) � (Sorting) [C] 

78. �� � •i•ll-f•FiS � fitC'I" t?
(A)�!$1'�ci;t:r;ft­
(B)�� 
(C)�<f�abfclil��
(D)�!$1'cfit� l 

79. 5��cli�\l.ff������
t1�J1q;Riir-l'Q'-IT'lf��t7 I" 
(A) 1 0 � (B) 15 � 
(C) 20 � (D) 5 wft �-_.,,, [A]

80. ii,m.fhucii il1'iraT '1ITT � cfiT � Ai:.tn?trulo 4 lt
��hl�t? 
(A) rrrmtor� (B) ��
(C) m (�) (D) Rlmis•ld. [D] 

81. cot
2

0-cosec
2
0=?

(A) 1 (B) -1
(C) 2 (D) 0 [B] 

82. �GCfur'ii�cR<jXcJi1 U��kl .wZTcl��QT
ciR'o'Tt1�cJrr�i-
(A) 3Jcf(@ G1fur (B) � G1fur
(C) q,:qc,tfzlq:; G1fur (D) � G1fur [A] 

83. � cli � � � � a; � �
� cfiT ("flfiOIUl�Q � tTT11T?
(A) 1 : 2 : 1 (B) 9 : 3 : 3 : 1
(C) 15 : 1 (D) 3 : 1 [B] 

84 . ............. cli cftur � � � � �cr-m -;:;JT 
�t? 
(A)� (B)�
(C) � (D) �1lll"ll.:t [D] 

85. � fik,�-1 -rit � � � q;1tf 'cfi«IT t '1m
$�Q¥t cfiT '3fcflll1111UT il'iiraT �? 
(A)�$ (B)�m
(C) �m2 (D) ��, [B] 

86. �����11Tffi'�c};-mf1fnll� 
a.nu1111.n cfiT ��-a;�� 11Tffl � ulTcft t?
(A) 100 (B) 120
(C) 1 50 (D) 60 [A] 

87. � llfiG cfiT � fflit � t?
(A)r.f&i+� (B)�+� 
(()�+� (D)?ft+<R [BJ 

88. 'Amendment' -ii�� Q'Tft'� llfiG t?
(A)� (B)� 
(C) °#�M,,....,..,t:-r::.,r:,, (D) � [CJ 

89. 'lffin a, iii l't4ic.ciilC'I � � � � � ciil;r
i.�1s�.2022ctil�tftlltn'?
(A) fl-:isl\i{)a �
(B)��
(C) ��ft(lll 
(D)��� [D] 

90. � fir-:c cl;� �'qR cfiT � �'qR �
t? 
(A)� (8)�

(C) Cfi1GT (D) "'�c1A< [BJ 
.Ji'z�UR*1 t? 
(A)�ll (8)�B
(C) J1•i•ll-i•I< 1l (D) � � [A] 

��cfi't�-(A)�ll� s�cf�H ��I
(8)�chlqq;�.t�1t�M\jj'f�t1
(C)���;:rgf��I
(D) � cfit � �,:iHI $1cft 61 [C] 

93. �if���-liffmcfti?
(A) 2KI+C12-+ 2KC1+h

---'--cc-:'--(B) Zn+J'1gS04-+ ZnS04+Mg
(C) ryig+CuS04-+MgS04+(u
(D) Zn+FeS04-+ Zn$04+Fe [BJ 

94. � �� cfrr 'jul'T '1ITT � cfiT ,3,-jQ'@' "ITToT t?

(A) ✓3 : 2 (8) 2: I

(C) -J3: 1 (D) 2 : -J3 [A] 
95. d<tMIHl � ........... � � � � ll � uJraT 

(A)� (B)�
(C) -:11-1�c.t\Jll (D)TTTTlTvft [CJ 

96. � llfiG if�� t? 
(A)cRUT� (B)�� 
(C) mRR � (D) 3ftIITT-J � [D] 

97. DBMS if � cl; itii& er �� cfrr � � �
utrcftt? 
(A)� sRJ (Sequence data)
(8) ilcTsRJ (Meta data)
(C) fi.t.ftslc:I (Minidata)
(D) � (Subdata) [BJ 
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98. � miftur � 1'fR'Uit � cfiT ';j'rif � <1R
� 1"fhft � miftur � � cfiaJ � TTtlT?
(A) 2 �. 2009 (B) 2 �. 2008
(C) 2 �. 2010 (D) 2 �. 2005 [AJ 

99. � � lR cf;l' �nm� '01'tn cftl' �
cfiT� 1:.J3 �.m�q;r�q;)ur!?
(A) 45° (B) 60° 

(C) 90° (D) 30° [DJ 
100. � -qci' ffiq;l ili 1200 c.c.1�41 cfiT � � t-r ll

tmn' cR � i, tnrr � 15 � tR � cfi1<lr-f t,
��if�chl'��
(A) 75 (B) 80
(C) 85 (D) 72 [AJ 

101. 19�chl'��if�llTamff-lm� 12 cif<1m
���-lm� 12 cift, �"ij;J:fUi��t?
(A) 3 (B) 4
(Cl 5 (D) 2 [A] 

102. � � chl' � � t?
(A) 5fi0llc-l-lq,, (B) �
(C) Jfnf (D) � [DJ 

103. ®ilitR��q;r'fl'tfi,3J'-fr-
(A)� ;i- �
(B)�Bfil
(C)��cli'r-TT
(D) fcr-rr�T $ l'faJUT � BfiT [C] 

104. 1'ffslcRiliiITtnt�g?
(A) 4,q�laq
(B)��WH
(C) <(-lZfuj..jl lil,
(D)�� [Bl 

105. ���cfiTf$wrr'lfl1T��t?
(A) cl-� (B) �-�
(C) �-� (D) -mm fAJ 

106. � i}> � qi) J:rqi"Z � ifJ"ffl ll� .qff !?
(A)� (B)�
(C) � r (D) � [A] 

107. � � �iJRUT � tR 25% � a:m;r � � 4
cltif if 8,800 �- � � t1 �(�if)� t?
(A) 2,200 (Bl 3,300 
(C) 4,400 (9) 1,100 [C] 

108. � era if, uf'iT ituf infflt.f � fcr;l;) u!'ra t m mt
� q;k � tR fi);c � fITnT, nGJ � �
lcmzcnl�:tt��ifWJ<R�t?
(A)era� (B)cf:s�
(C) era� (D) era tq [DJ 

109. A..::iiF$e1 .:f��Glltq;if�ifJt•H-t(§c.11 �
���
(A) 2001-11 (B) 1971-81
(C) 1991-2001-+-M-_.,. (D) 1911-21 [BJ 

110. � � ffl"ff cftlFulc:? 
47 * 38 = 8374, 53 * 16 = 6135, 20 * 92 =?
(A)2902 (8)2920 
(C) 9220 

--,,......-
(D) 1840 [A] 

111. �&ti#f-qcj i};c!;l&.cq1 ,sftqffif A..::ifi:lrulct ,lll��
ll�t? 
(A) � (B) �sfi!--c..:i
(C) lf.rn (D) � [BJ 

112. ��ili�clil��mililf{�
m '1rn) if�� cftl' Jm);m cfll � Jt"raT P.
(A)� (B) �
(C) fch<""cR•1 (D) � [BJ 

113. � �;l'c!.1��720 �- if'ififrl �tR-ffi
200/o 'twlT'II "m � tR 200/o � gt, ctl ffl"ff c1m �
��if��� m t-lN 83fl? 
(A) 40 �- cfilffi'lf (B) 40 �- ��
(()60�. cfTT'� (D);r�;i-m'l-1' [CJ

114. 'B' �cm cffiwlT &lfcm � �qJJl a; c.ll�tiT a;)
rc@ GA' cR � tl. � p. 
(A) B '3fR O � q1'TT q,,y (B) A '3fR AB � q1'TT q,,y
(C) B '3fR AB �qtjf cnl(D) A 311< 0 �qtjf cnr [C]

115. �cFfuA�i-1('1 m!tlT � if 3fT'tfR' q;r 1lR' tftctT t? 
(A) 6 (B) 8 
(C) 16 (D) 2 [C] 

116. �-It�-
(A) � (B) ;i-!ITTJ
(C) �al ��R (D) � � [CJ 

117. 19191l���cftl'�q;'{;lcftl'111�
(A) cf'<TT (B) �
(C) � (DJ Ri-ffifeftlll [A] 

118. A..::ifi:l�ct tl ll 'fl&icll� if� Wlo-1 chl' ��
1921 if .:ttt1641•1 -,i1.:&h1.:i a; wirrcr if '6t �
(A) �WIT� (B) �mnmit � 'Q"€l1Z@"
(C) ��· !N11J..1Us\'I (E>) it� WtR � (*J

1 
� x = ✓

2 
t, x2 + 2x + 3 q;r 1lR' P,

1+ 2 

(A) 3+ ✓2 (B) 4

(C) 0 (D) 2+ ✓2 [BJ 
120. DRDO ili �lff�t?

(A) if. � � (B) if. � �
((}�aft. � (D) �cft. � [D] 

121. Coose the correct tens f the verb given in
the bracket. 
Do you (speak) EnglishT 
(A)spoken (B)speak
(C) spea�ing (D) spoke [BJ 

1:22. �rfQ'T� 
(A)��� (B) � $ �
(C)�ai� (D)�cf;'r� (D] 

123. �ll�mmtr�-�. �il�p.
(A)� (B)�
(C) tc: / � (D) � [BJ 

124. � � clft � clR � � � � � 200/o
cfi1l clR � �. ctl �"fn * � � -lm �
;};;nl�cfil�P,
(A) 4: 5 (B) 5 : 8
(C) 3 : 8 (D) 2 : 3 [BJ 

125. What is the synonym of "Deform"?
(A) fashion (B) distort
(C) beautify (D) mould [BJ 

126. � mfi cflT TitJ1F � Jt'raT t. � � tR:'-fr �
Jt"raT t, tR:'-fr � qicq; � JtraT t nm cfiZili cm­
� � Jt'raT i. cit� chl' rr-,rur.ft cfqJ �?
(A)trc-rr (B)�
(C) q,,cJt, (D) � [CJ 

Join Telegram Group "GovJobsAdda.in"

https://telegram.me/lakshyaclassesudr


I CET 12th Level (15t Shift) Answer Key Dated: 05.02.2023 

127. 

128. 

129. 

130. 

131. 

132. 

133. 

134. 

135. 

136. 

137. 

138. 

139. 

140. 

� � qij?Qf.?lq, � il � 0, 1, 2, 3, 4, 5, 6, 7, 8, 
9cm-m1J:u: I. m, n, o, p, r, s, t, u ll�� 
1J'Q'Tln�21 cm- mn �.;rnnl, [Uo-qr)xmn] 
ctlciRliRt? 
(A) -qtu (B) -onp
(Cl qtu (Dl onp .....-n'TlrT'e2TT [DJ 
� 'Qui' � � � .:t11z:m-1q cl; .......... cl 
���rt? 
(Al 49 (B) 29 
(Cl 40 (Dl 37 [C] 
� tR ct� if 20% cfit � cfit ;;rnft t. oil� 
�ifgt�t? 
(Al 60% (Bl 72.8% 
(C) 80% n,T",1-.. (Dl 20% [BJ 
m;n:m;r Qi1Ju3�R cfit � cfiil" s4? 
(A)2000 (B)2002
(Cl 2003 (Dl 2001 [DJ
� t'li-ilc{tftq liT'wTI cfit �,m cfiT ,3J.jQTn 2 : 3 a'fl
J'.iii{tif c1il ,3J.jQTn 5 : 4 �- ell � liT'wTI cl; � �
� n'fT amra;jf cfiT � �,: �
(Al 5 : 9; 5 : 6 (B) 6 : 5; 9 : 5
(Cl 9 : 5; 6 : 5 (Dl 5 : 6; 5 : 9 [DJ
Replace the underlined part of the following
sentence with one word from the options
given below:
She teaches t e science oftfie i e of p ants.
(Al zoology (B) biology
(Cl pathology (D) botany

log { 4:1,} cfiT � �

(Al 2log 2 + log I+ log m -�g k
(Bl log4-logl-logm-logk 
(Cl log 2 + log l -log m + log k
(Dl log 4 + log l + log m +leg k

__ 
[AJ 

��T (it.�.�-trif.) '1f1tITT � � "clil U:@lfcln cJit 
;;rnft t \ill� wr � � t?
(A)� �\(lRH-1 (B) ��
(Cl (cfcl�•frll (D) uRR�lltf [BJ 
� if ll � til�-f ai-11-l if q;p:r � 3JT'ffi. 
(A) R.qRcfi � (B) � �
(Cl iilr\.Tl1$c/i � (D) 41fi:lftcli � [CJ 
� it'oT<;r � failf tR cnrtf � � * t:rtPf 
Rmq1fan� 
(Almm' (B)�Jffel.r
(Cl� =Ttt..t77 (Dl � [CJ 
�if� Gil��lc. fcmA cllf il'cfi !� � t?
(Al 10 <l1if (Bl 15 9'if 
(Cl 20 9'if (Dl 5 q\{ [CJ 
f?ti .. tf�� ct '1 ll � � mr � t?
(Al ��Rc/i (B) �
(Cl � {J;J (Dl � [CJ
m;n:'fl.l" ct R'-llf fam '3fTtn1T cfiT .lf�ltf � 'fl? 
(Al��� (Bl�� 
(CllTifum�WTUTT (Dl�� [AJ 
512000 cfiT � t?
(A) 60 (B) 70
(Cl 80 (D) 50 [CJ 

141. 

142. 

143. 

144. 

145. 

148. 

149. 

150. 

� c); .llutQ:m11 � c); f1raT � 11? 
(Al Fc\%'11\SJ � (B) � �
(C)q�mm (D)�� [C]
� fflcfiR "clil � lfTl«-ll 1t � � a; �
�t?
(A) 1-1$1..ql4ql�
(C) � -'4141�4

0.064 X 6.25 
�cfil�cftlT": 

0.081 x4.84
(A) 10 (B) 10

9 99
(C) 

lOO 
(D) 9 

99

[BJ 

[CJ 

� 1l ll � 'qi� �'fl':f cl; <1-,-QQ1e1 cl; m� if 
�t? 
(A) <.1""441� �Rlql�4 i:liT WF1 '11""441ct ctiT � '$TcIT t
� f$- � }!"�Tmm oo ctil � '$TcIT ti 
(B) <.1""441� "$1 �Fc\¥h'tll �Tfc@<:ff � � tm f.:rufm cli1"
..ql41�4 it���\ifl�I 
(C) '11""441� cli1" � ct ��T ct � � c:fit
�rfc@m'<f�t,
(Dl '11""441ct cli1" J:r�� � � � ct �
<1""441ct �Rlcu�/4 cfiT!fuJ�1 [DJ 
� il ll clil-=rm �---litt;� q-zq; t?
(A)� (B)� 
(C) gfi:l�t:Xffi\JI (D) � .....,..._ 

[DJ
f.?li:.:t��n q failf c.-- if '11iqqiiicli �iilc}cfn m.: 
t? 
(A)�.� (B) ,trrr, �
(C) �. � (D) t®s, � [CJ 
fflm ifi'Jlm 1l � � $ � cfiR'qi � � ;r fcmft 
� il fclE.Jlti-1 � ' -m � t?
(A)t°& __ <B)��
(C)�� (9)�� [BJ 
A 8, C, '1IR D il � � «tR � .ft qf �
�ct;t�uftrl? 
Mai'l..figu e / � � 

�, 
Answer Figures/ «tR -,flct,�df 

(A)� �)�

(C) � (D) �

[AJ 
� il ll � �eilfrlcti � � 1l � :nff p. 
(A) iill<.1-11.sl-III (B) -iTQRR 
(C)if.sR (D)QR-f�lJTI-J"
iTflITT:r �if�� cfiT � � 
(A) LAN (B) ROM
(C) WAN (D) RAM

[BJ 

[BJ 
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